Mmath 6 Wed 5 ot 200 W

o<
5 (‘ O\;a_wé fﬁ&'\c M_S
v ey = X
. (2 H) T (2,u)
AR i
~t| 4 =yt
Ol r=x
6| © G
L] 4 Jeo) &
2 B
34
oy g0z -2 (x-3Y + 2 Thisk i omt
- Mangfnahn oF 372
t |
3—\{* >[: -2 -1 o/o\
-3 (1,-2)

@
=
*
L
[
o
N
%
Zh
e
>




Mt (6.10.0%

@
2’ ’tv \
F(x) = & (x-h) +k M:" fore, .
(0~ “Standard Foom" )
of P eguahin of
e a QUQ;QAM'I\( ’.Fuw::\\&\

(hk) = votex
e P‘\faLolG ¢ open~  Ud i]ﬁ az>o .

ol fey s (xaey—1 % oa=l

h=-2
Eul'\—:\ ogn_V\ uPp ’ k:__i
7] verdex = (-2, 1) | (> 3)
X
ST
I -3]o
e -2 /-
-7 -\ -1]0
e oD

v, Hee 5 e 3_/‘:_\B_L\ ao a ﬁ‘uco\mﬁc'ﬁxwdlu«-
Fad s ¢guatan .

(h) =01, %)
‘/\/QHQ)‘—‘Q;S\ S0 ‘ﬂu, eqvafum heg 'P‘Q_'l%l"\
Jeineragr | foyz alx-N"+1%
@, — M we wad 13 fo detomine @ .
— / =l W Now, Use. that (X, v) =(0, 1) Htistias Ha g
i > lzale=N+ 3

o ’: q+5=>q:—2.

B

)

Ar\gw: lf(y):—?__(X—-)y—-l-




MG 6. 16. 65

>
2_ “ Genar) P
&oq = ax +bx+ C.] of o quademdi Fuachon

GENERAL.
‘Fﬁg‘: A quedixie '(:\k\&c.‘h-u\ (A | ‘R}f‘f\
Can always be waHa (A VERTEX A,

a—

o Loy = 2xP+ ok + 13

The herd
\ way ) = ZCXL—J—éx > + 17+
= 2 (x*Hex+ 3 )y +1F - 18
- o (x+ny -1
(The easy The eary %0 coavet fom gemaral 70 yodec B (-
wAa -
") az=Qq /
q
k':: .fO,\) -b Jbz"'-t‘qc.
_ 24 o

Mo, T corvwb fm vertex B geowrl Form, Jost mulhgl s

X 3Y) Ly T “3AXT42Y x — 40 (ot
(s \ verfex fown |
hesd k - -..b.- = 2.4 - 24 _
2a 2_(_3)" 6 4

k = nCC'*) = -3yt 4qy 4G =‘ff;:j‘°"%

Prvg s '?Q(\: ’BCX—L/)L"-Z‘



Mo (b Jo.oS @

3% cond) @) Find the vadex:
Verex = (4, 2)

h> A’)(f_g A S)(nv-uh\y? Tre ling x=Y
C\) DM“‘\’\ D‘C- -p ? )(H %‘\(5 = C—p)w)
d) Rawf,o, d‘p'?? (—oo, ?_.]

@) whare g_( -r{\l.. 'F;Mt_'l\«h l.'\c-m_jl‘/\ﬁ? C-OQ/ 9)
QCB where s f o\acmlj? (4, )

3.2 Yy nthate B NISim
Frfners A’(jor;;!—km (')(r e.u(laq'h‘r\j |5o(~,v\a-c‘qls>
ex - R the ()olsrmm‘c( ‘)(;»\t.ﬁ.\«
Loz 3x>+ x4 4= + 2
Fudede £(2) .  Dur wait!!
Loy (owtem) + 2
— (EaxFHX + 2
= [Odax)+ulx+ 2
= [Guayxrilx+ 2
AT T A

voe . T coelfiimls  are Sl vighle
5*‘“ in the  sawa oMot




Mile ls)o. 16

&
of
1@@__\ - {(3.1-}-1)\2_4“7‘]-2 + 7 )

- g R ?_.
= 3R
Dookepss -
2] g | Y 2
G 14 36
’”3 2 18 39 :‘QQ&,)
V\j
U R
-9 o4 -Bd
2 g 2% ,%253(\‘(’3)
—

We will  See. 4hat  Anage ot~ Avmdwg
e waanany 25 well



